CHRISTMAS TREE HIDOKU PUZZLES

Fill in the missing numbers in the tree-shaped grid so that each number
connects to the next number either horizontally, vertically, or diagonally.

EASY PUZZLE 1 EASY PUZZLE 2
41 78
40|43 42 79| |76
44| |21 38
22| 119 83| |81/|39|37
3746 84
47/ 117 |80 85|86| 45| |35 4]
35/16|25/81 |79 87| |71 |44|42
26 848688 33| |50
50 14| |83 |89 911020104104/ 69 51
51|130| 13|72 90| [102101 92(101/103 54|31 |21]19
52 10, |70)103105100 59| |57 55 18
59|55 9 920106/99|95(97 97194 60| |29 1111513
58 54 65 66 94|98(96| |98|96| |61 26(24(9 |10
64
2146 1 6
3|15 215
EASY PUZZLE 3 EASY PUZZLE 4
62 49
64|61 47
60|65 52|51 (46
106 66 55 59|45
101|7167 57
104 10017257 38| [35/34]42|43 6]
96|97(99|73| |36 3940|4133
94| |98|74|54|37|34|35 79| (76| 74|63 67
84| (91 |75 |33 77| 75| |88|64| |68
81| |89 32|30 81|83 |96/86 8969 |29
88|79 |51]49 29 82 92| |90 ] 28
7182 50|24 |26|41 45 10098| |94]17| 4 2| |25
5| 4 911 111|20(23| [47|46| |44 |ios104102 |15] |5 3120 26
1911221 6
14 13
171 15 9
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CHRISTMAS TREE HIDOKU PUZZLES

Fill in the missing numbers in the tree-shaped grid so that each number
connects to the next number either horizontally, vertically, or diagonally.

MEDIUM PUZZLE 1 MEDIUM PUZZLE 2
29 98
30 99| |97
26 95
33 |25 17 71172
18 93102 |75
37135|21(20 15 76 19
48 13 87|68 104 22
42| 44 6 86| |89 23
40 45 96 11 85 106 |80 15
59 1 97 61 65 25|29
57| |55 8688 102 56|33 28
6716665 85/ |89 o1 |05 3156 55 36| |41
68| |70|71]63|73|82 92| 106 117 45|35 (37| 40
74 53
77175
79 48|50151
MEDIUM PUZIZLE 3 MEDIUM PUZZLE 4
47 13
40 1514
11
4846|4437 1 3|98
56 34
57 51 33 44| |4 6
60 46 20
66| |61 9 7 48 90| (22 |25
65 12 61 87| |94|38/26
69| (7311 1114 51 86 |97 27129
71 87| |90 17115 59| |81 104 28
81|82 85106 |89 25| |23 53 80| 64| [100
791 77| hos 94| [20/24(22 54|56 79| |76 101104 |32
75
102 |96 69
100|99 70| |68
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CHRISTMAS TREE HIDOKU PUZZLES

Fill in the missing numbers in the tree-shaped grid so that each number
connects to the next number either horizontally, vertically, or diagonally.

HARD PUZZLE 1 HARD PUZZLE 2
?
8 45|43 142
5 12 40
47 39
37
85 81 35 5355
?1 89 1 104 1 |59 52
63|64
?3 25 3 73 66
98 665755 22 8 10112 103 86
101 54 13 102 69
106 75 39 31 19117116 10189 82
105 60 36 32 15 25 ?0 80
51
50 ?8
45 7195
HARD PUZZLE 3 HARD PUZZLE 4
32 87
31
30 22 ?1/84|83|81
28 23 99 80
39 6 100| 74 76 /8
4] 17
10 12 30 56
1 |46 85|87 104 58
52 84 88 ?5|100 2 105 66
53|49 1 106 60
77 74 56 61 106|103 10 38 63
76|78 80 63 59 92 7 12 16|36 43|45
71 15
65 22|18
68|66 21
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CHRISTMAS TREE HIDOKU PUZZLES

Fill in the missing numbers in the tree-shaped grid so that each number
connects to the next number either horizontally, vertically, or diagonally.

CHALLENGING PUZZLE 1 CHALLENGING PUZZLE 2
58 29|26
19
6215449 22|20
46 42
64|37 65
39 44 44 15 64
33 35 71170 37|35
34 104104 48 46 87
1 76 80182 100 97|96 55|53 61 93
28 7779 ?4 52 92
8 2] 10110099
4 25 85 89|90 6|17 18|91 106
17 80
18
76
CHALLENGING PUZZLE 3 CHALLENGING PUZZLE 4
11 62|59
2927 76 66
3 16 19 79 55
22 73 21
35 1 70 87
37 102/ 59 4]
74|72 104 10098 104 44138
71 63 57 101
4] 32 47 115 1913231 25
81(83|84 46 49 2 22 28|27
43
?4
21192 1114
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